T.Y.B.A.

ECONOMICS Q.P. Code :11572
Advanced Economic Theory

(PAPER - IV) (27/12/2017) ) [Time: Three Hours] [ Marks:100]

Please check whether you have got the right question paper.
N.B: 1. Attempt any five questions selecting not more than three from any each section.
2. Figures to the right indicate full marks.
3. Draw neat diagrams wherever necessary.

Section -1
Q.1. Attempt any two of the following :
a) What are the types of price leadership? Discus the low cost price leadership model. 10
b) With the help of kinked demand curve hypothesis, explain price rigidity in oligopoly. 10
¢) Explain Prisoner’s dilemma strategy in Game Theory. 10
Q.2 Attempt any two of the following:
a) Show how factor price is determined under perfect competitive market. 10
b) Discuss the Modern Theory of Rent. 10
¢) Explain Risk Bearing and Uncertainty Theory of Profit. 10
Q.3 Attempt any two of the following.
a) Discuss the attainment of a general equilibrium in production. 10
b) Explain marginal conditions of efficiency in exchange in Pareto optimality. 10
¢) Show the relationship between marginal conditions of Pareto optimality and perfect 10
competition.
Q.4 Attempt any two of the following :
a) What is search cost? Explain the process of search cost. 10
b) What is adverse selection? Explain how market signaling can be used to overcome this 10
problem.
c) Discus the principal - agent problem. 10
Section II
Q.5 Attempt any two of the following.
a) Explain how the equilibrium income and interest rate is determined in IS-LM model. 10
b) Show the relationship between slope of LM curve and effectiveness of fiscal policy. 10
c) Explain the trade-off between unemployment and inflation with the help of Philips curve. 10
Q.6 Attempt any two of the following.
a) Discuss the Modern theory of international trade. 10
b) Explain, with the help of offer curves, the determination of equilibrium terms of trade. 10
¢) Explain protective trade policy? 10
Q.7 Attempt any two of the following.
a) Discuss how the demand for and supply of foreign exchange determine exchange rate. 10
b) Explain the relative efficiency of monetary policy under fixed exchange rate and perfect 10
capital mobility in Mundell Fleming model.
c) Explain the concept and causes for currency crisis. 10
Q.8 Attempt any two of the following :
a) Explain the ability to pay principle of Taxation. 10
b) Describe incidence of taxation under different elasticity of supply. 10
¢) Discuss the Coase theorem. 10
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ECONOMICS Q.P. Code :28175
Growth and Development
\ (PAPER -V) (28/12/2017) y [Time: Three Hours] [ Marks:100]

Please check whether you have got the right question paper.
N.B: 1. Attempt any five questions, selecting not more than three questions form any
one section.
2. Answers to the two sections should be written in the same answer book.
3. Figures to the right indicate full marks.
4. Draw neat diagrams wherever necessary.

Section - I

Q.1 Attempt any two of the following:- (20)
a. What is economic development? Distinguish between economic growth and economic
development.
Critically examine Sen’s capabilities Approach.
c. Explain role of State in economic development.

Q.2 Attempt any two of the following:- (20)
a. Discuss Rostow’s stages of growth.
b. Explain Lewis’s theory of growth with unlimited supplies of labour.
c. Write an explanatory note on sollow’s growth theroy.

Q.3 Attempt any two of the following:- (20)
a. Write an explanatory note on multiple equilibria.
b. Discuss the big push theory.
c. Explain Leibenstein’s theory of critical minimum efforts.

Q.4 Attempt any two of the following:- (20)
a. What is Poverty? Explain the concept of head Count Index and Poverty Gap Indices.
b. What are the causes of income inequality?
c. Explain Kuznet’s inverted ‘U’ hypothesis.

Section — I1

Q.5 Attempt any two of the following:- (20)
a. What are the causes of high fertility in developing countries?
b. Explain the effects of high fertility.
c. State the contribution of health in economic development.

Q.6 Attempt any two of the following:- (20)
a. Explain the causes and effects of migration.
b. Discuss Harris-Todaro model of rural — urban migration.
c. Write an explanatory note on microfinance revolution.
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Q.7 Attempt any two of the following:- (20)
a. State the role of agriculture in economic development.
b. What are the policies for rural development?
c. Write a note on agriculture and WTO.

Q.8 Attempt any two of the following:- (20)
a. Explain the inward looking trade strategy.

b. What is BOP deficit? Explain the methods of financing balance of payments deficit.
c. What are the advantages and disadvantages of Foreign Direct Investment?
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Please check whether you have got the right question paper.
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Indian Financial System

T.Y.B.A. A

ECONOMICS

(PAPER - V1) (29/12/2017) y

Q.5

[Time: 2% /3 Hours]

Q.P. Code :11794

Please check whether you have got the right question paper.
N.B: 1. IDOL students should attempt any five questions.
2. Regular students should attempt any four questions.

3. Figures to the right indicate full marks.

Attempt any Two of the following:
a) Explain the components of Indian Financial System.
b) What are the functions of a financial system?
c) Explain the indicator of financial development.

Attempt any Two of the following:
a) Recommendations of Narasimham Committee 1998
b) Growth of NBFCs.
c) Transmission channels of monetary policy.

Attempt any Two of the following:
a) Equities
b) Debentures
c) New types of bonds.

Attempt any Two of the following:
a) Components of organised money market.
b) Structure of Indian Capital Market.
c) Functions of foreign exchange market.

Explain any Two of the following:
a) Meaning an significance of derivativies
b) Forwards and Futures
c) Pricing of options.

Attempt any Two of the following:
a) Mutual funds in India
b) SEBI
c) Role of RBI.

Write short notes on any Two of the following:
a) Role of financial system in economic development
b) Recommendations of Narasimham Committee- 1991
c) Features of Indian money market
d) IRDA.

[ Marks:80/100]
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Please check whether you have got the right question paper.
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ECONOMICS
Advanced Economic Theory Q.P. Code :11570
\_ (PAPER - l‘!) (05/01/2018) J [Time: Three Hours] [Marks: 100]

Please check whether you have got the right question paper.
N.B: 1. Attempt any five questions, seating not more than three from any one section.
2. Figures to the right indicates full marks.
3. Draw neat diagrams whenever necessary.

Section |
Q.1 Attempt any two of the following
a) Explain Cournot model of oligopoly. 10
b) Explain how price output is determined under low cost price leadership model. 10
c) Discuss the price output determination under market sharing cartel. 10
Q.2 Attempt any two of the following
a) Discuss the factor price determination under perfect competition in product and factor market. 10
b) Explain the loanable funds theory of interest rate. 10
c) “Profit is a reward for uncertainty bearing” Discuss. 10
Q.3 Attempt any two of the following
a) Discuss the concept of general equilibrium and its existence. 10
b) How are Pareto optimality conditions achieved under perfect completion? 10
¢) Discuss the Kaldor-Hicks composition criterion of social welfare. 10
Q.4 Attempt any two of the following
a) What is asymmetric information? Explain it with the help of market for used cars. 10
b) Explain principal-agent problem and suggest measures to overcome it. 10
c) Explain the efficiency wage theory. 10
Section Il
Q.5 Attempt any two of the following
a) Derive the IS curve and explain its features. 10
b) Explain the impact of fiscal policy on equilibrium national income and interest rate under IS-LM model. 10
¢) Explain the long term Philips curve. 10
Q.6 Attempt any two of the following
a) Explain fixed exchange rate system. 10
b) Explain purchasing power parity theory of exchange rate. 10

c) Discuss the monetary and non-monetary measures of correcting disequilibrium in the balance payments. 10

Q.7 Attempt any two of the following

a) Explain the comparative cost advantages theory of international trade. 10
b) Explain determination of equilibrium terms of trade with the help of offer curves. 10
¢) What is tariff? Explain its effects. 10

Q.8 Attempt any two of the following
a) Explain the features of public goods. 10
b) Explain Lindhal’s model of benefit principle of taxation. 10
¢) Discuss the excess burden of taxation. 10
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T.Y.B.A.

ECONOMICS
Growth and Development

(PAPER - V) (08/01/2018)

Q.P. Code :28177

y [Time: Three Hours] [ Marks: 100]

Please check whether you have got the right question paper.
N.B: 1. Attempt any five questions, selecting not more than three questions form any
one section.
2. Answers to the two sections should be written in the same answer book.
3. Figures to the right indicate full marks.
4. Draw neat diagrams wherever necessary.

Section - I

Q.1 Attempt any two of the following:- (20)
a. What is economic development? Distinguish between economic growth and economic
development.
b. Write a note on Sen’s Capabilities Approach.
c. [Explain the role of state as an agency of development.

Q.2 Attempt any two of the following:- (20)
a. Critically examine Rostow’s stages of growth.
b. Explain Harrod - Domar growth model.
c. Critically examine Lewis’s theory of growth with unlimited supplies of labour.

Q.3 Attempt any two of the following:- (20)
a. Explain Romer’s growth model.
b. Discuss big push theory.
c. Explain theory of critical minimum effort.

Q.4 Attempt any two of the following:- (20)
a. Define poverty. Write an explanatory note on Head - Count Index and Poverty Gap
Indices.

b. Explain various policies for alleviation of poverty.
c. Explain the impact of inequality on development.

Section — I1

Q.5 Attempt any two of the following:- (20)
a. Explain the theory of demographic transition.
b. What are the causes and effects of high fertility in developing countries?
c. Explain contribution of education and health to economic development.

Q.6 Attempt any two of the following:- (20)
a. Explain Harris-Todaro model of rural-urban migration.
b. Write a note on women in the informal sector.
c. Explain the concept of microfinance revolution.
Page 10of4
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Q.7 Attempt any two of the following:- (20)
a. Explain the role of agriculture in economic development.
b. Discuss the policies for rural development.
c. Write a note on agriculture and WTO.

Q.8 Attempt any two of the following:- (20)
a. Explain inward looking trade strategy.

b. Discuss the role of Foreign Direct Investment.
c. Examine the structural adjustment programme of IMF and World Bank.
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Please check whether you have got the right question paper.
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T.Y.B.A.

ECONOMICS
Indian Financial System
(PAPER - V1) (09/01/2018)

Q. P. Code: 28185

y. Time: 2 Y2/ 3 Hours Marks: 80/ 100

N.B. (1) IDOL students should attempt any five Questions.
(2) Regular students should attempt any four Questions.
(3) Figures to the right indicate full marks.

1. Attempt any two of the following: (20)
(a) What are the important components of the Indian financial system?
(b) Discuss the various functions of a financial system.
(c) Explain the indicators of financial development.

2. Attempt any two of the following: (20)
(a) Development functions of RBI
(b) Objectives of monetary policy of RBI
(c) Development banking in India.

3. Attempt any two of the following: (20)
(a) Management of non-performing assets of commercial banks
(b) Meaning and types of equities
(c) New types of bonds.

4. Attempt any two of the following: (20)
(a) Structure of Indian money market
(b) Features of Indian money market
(c) Overview of debt market in India.

5. Attempt any two of the following: (20)
(a) Structure of Indian capital market
(b) Meaning and functions of derivatives market
(c) Types of derivatives.

6. Attempt any two of the following: (20)
(a) Mutual funds in India
(b) Insurance business in India
(c) SEBI- functions and role.

7. Write short notes on any two of the following: (20)
(a) Recommendations of the Narasimham Committee of 1991
(b) Role of NBFCs in India
(c) Functions and participants in foreign exchange market
(d) Credit rating in India.
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Please check whether you have got the right question paper.
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T.Y.B.A.
ECONGOMICS

Research Methodology
(PAPER - VII) Q.P. Code : 11934

Time: Three Hours] [Marks: 100]

Please check whether you have got the right question paper.
Attempt any five questions, selecting not more than three questions from each section.

N.B:

Answers to both the sections should be written in the same answer book.
Figures to the right indicate full marks.

Use of simple calculator is allowed.

Graph papers will be supplied on request.

ok wnN PR

Attach the graph paper inside the answer-book.

Section |
Q.1 Attempt any two of the following. 20
a) Define research and state the charateristics of scientific research.
b) Explain various types of research.
c) Elaborate the process of research work.

Q.2 Attempt any two of the following. 20
a) What are the criteria of a good sample?
b) Discuss merits and demerits of sample survey method.
c) Describe various probability sampling methods.

Q.3 Attempt any two of the following. 20
a) Discuss merits and demerits of observation method.
b) Explain questionnaire method of data collection.
c) Give a brief report on any case study that you have undertaken.

Q4 Attempt any two of the following. 20
a) i) Write a note on — ‘bases of classification’. 04
ii) Draw Histogram for the following data. 06
Marks 0-10 10-20 20-30 30-40 40-50
No.of students 02 27 48 35 20
b) Calculate arithmetic mean and mode for the following data. 10
Weight(in kgs) 20-25 25-30 30-35 35-40 40-45
No.of boys 15 25 30 18 12
c) Calculate Quartile Deviation (QD) for the following data. 10
Income (Rs) 100-150 150-200 200-250 250-300 300-350 350-400
No.of workers 05 12 23 35 21 04




Q.P. Code : 11934
Section Il
Q.5 Attempt any two of the following.
a) Calculate Spearman’s Rank Correlation coefficient for the following data.
Marks by Judge | 80 78 90 92 75
Marks by Judge | 90 87 93 91 89
b) Find the regression equation of X on Y and Y on X for the following data.
n=10 >X=250 >Y=320
byx=0.95 b.y=1.05
c) Fit a trend using three yearly moving averages.
Year 2006 2007 2008 2009 2010 2011 2012 2013
Production(in kgs) | 220 240 250 270 290 300 310 330
Q.6 Attempt any two of the following.
a) i) Explain the uses of index numbers.
ii) Find real income for the following data.
Year 2006 2007 2008 2009 2010
Income (Rs) 600 700 800 900 1000
Index number 110 115 120 125 130
b) Calculate Fisher’s Index Number for the following data.
Commodity Po Qo Ps Qi
A 20 10 22 10
B 25 12 30 12
C 30 8 40 6
c) Calculate Cost of Living index number for the following data.
Commodity Current Year Price (Rs) Base Year Price(Rs) Weights
Food 60 55 25
Clothing 40 32 15
House rent 30 28 22
Fuel and lighting 25 22 18
Miscellaneous 50 46 20

20

20
05
05

10

10



Q.7

Q.8

Q.P. Code : 11934

Attempt any two of the following.
a) Define hypothesis and explain its role in research.
b) What are the criteria of a good hypothesis?
c) Explain various types of hypothesis.

Attempt any two of the following.
a) Discuss types of a Reseach Report.
b) Outline the structure of a Research Report.
c) What are the precautions to be taken while writing a Research Report?

20

20
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Please check whether you have got the right question paper.
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T.Y.B.A.

ECONOMICS Q.P. Code :08211
International Economics

\.

(PAPER - VIII) [Time: Three Hours]

Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

Q.8

Please check whether you have got the right question paper.

N.B: 1. Answer any five questions selecting not more than three from any section.

2. Figures to the right indicate full marks.
SECTION |

Examine. (any two)
a) Ricardo’s theory of international trade.
b) Factor endowment theory of international trade.
c) Leontief paradox.

Explain (any two)
a) Factors determining capital mobility.
b) Wage — convergence
c) Role of FDL.

Discuss (any two)
a) Economic arguments for protection.
b) Export— oriented trade strategy
c) Labour standards and environment issues in WTO.

Explain (any two)
a) Theory of optimum tariff.
b) Voluntary export restraint and commodity agreements.
c) Meaning and effects of tariffs.

SECTION I

Examine (any two)
a) Structure of balance of payments
b) Types of disequilibrium in balance of payments
c) Monetary measures to reduce deficit in balance of payments.

Explain (any two)
a) Functions of foreign exchanges market.
b) Purchasing power parity theory.
c) Spot and forward exchange rates.

Discuss (any two)

a) Fixed versus flexible exchanges rate system.

b) RNC of IMF

c) Exchange rate experience between oil stocks, 1973 — 1980.
Explain (any two)

a) Benefits and types of economic integration

b) NAFTA

c) SAARC

[ Marks:100]
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Please check whether you have got the right question paper.
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T.Y.B.A.
ECONOMICS
Export Management Q.P. Code :09027
(PAPER - IX) J [Time: 2% Hours/3 Hours] [Marks:80/100]

Please check whether you have got the right question paper.
N.B: 1. Attempt any four questions.
2. Figures to the right indicate full marks.
3. The student of IDOL should attempt any five questions for 100 marks in 3 hours.

1. Attempt any two of the following:-
(a) State the functions of Export manager.
(b) Discuss the qualities required to be successful Export manager.
(c) Explain the products designing strategies.

2. Attempt any two of the following:-
(a) Examine the role of GATT in promoting International trade
(b) What are the functions and achievements of UNCTAD?
(c) Explain the Role of SAARC in promoting foreign trade

3. Attempt any two of the following:-
(a) What is the meaning of tapping foreign market? Examine the role of foreign office in export marketing.
(b) In what way trade fairs and exhibition help exporter to penetrate in foreign markets?
(c) Examine the contribution of festivals and Trade delegation in promoting exporter.

4. Attempt any two of the following:-
(a) What is export pricing? What are the cost factors involved in it?
(b) Write a detail merits and demerits of skimming Pricing strategy.
(c) Calculate the FOB price from the following details.

1) Ex-factory cost. Rs.60,000

2) Packing cost Rs.12,000

3) Transport cost Rs.4,000

4) Loading charges Rs.4,000

5) Profit margin 15% of FOB cost
6) Duty draw back 15% of FOB price.

5. Attempt any two of the following:-
(a) What is significance of export finance? What do you mean by post-shipment finance?
(b) Examine the role of ECGC in promoting Indian exporter
(c) Explain the role of EXIM bank in Export development in India.

6. Attempt any two of the following:-
(a) What are the different types of letter of credit?
(b) Explain in brief shipping documents required by an exporter.
(c) Explain the various incentives to an exporter.

7. Write a note on any Two of the following:-
(a) Importance of Branding
(b) WTO
(c) Comodity Board
(d) Certificate of origin.
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